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INTRODUCTION TO BASIC SCAFFOLDING

What is basic scaffolding?

Basic scaffolding is work with:

• Prefabricated scaffolds

• Cantilevered hoist with a working load limit not exceeding 500 kg (materials only)

• Ropes

• Gin wheels

• Safety nets and static lines

• Bracket scaffolds (tank and formwork).
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INTRODUCTION TO BASIC SCAFFOLDING

Toeboard

Transverse brace

Parts of basic scaffolding

Standard

Base plate

Transom

Sole plate

Working platform

Midrail

Guardrail

Longitudinal brace

Ledger
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PLAN TASK

Dead weight/load =

the total weight of the scaffold components pressing down on the base/sole board

Explanation of dead weight/load

. . .CONTINUEDFROM PREVIOUSPAGE

. . .CONTINUES ONNEXT PAGE
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PLAN TASK

. . .CONTINUES ONNEXT PAGE

ii) Look at the drawing  
again.

How much dead load is  
supported by adjustable  

base plate A?

Write your calculations in  
the table .

QUESTION 30

. . .CONTINUED FROM PREVIOUSPAGE

Components Weight Calculation Total

Adjustable base plate 8 kg 1 × 8 =
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3 m standard 18 kg 1 × 18 =

Transom 10 kg 4 × 10 ÷ 2

(half the weight)

=

Ledger 9 kg 2 × 9 ÷ 2

(half the weight)

=

Brace (1.2 mbay) 9 kg 1 × 9 ÷2

(half the weight)

=

1.8 msteel plank 13 kg 5 × 13 ÷ 4

(quarter the weight)

=

Total dead load =

PC 1.7



PLAN TASK

. . .CONTINUES ONNEXT PAGE

iii) Look at the drawing  
again.

How much dead load  
is supported by 

adjustable base 
plate B?

Write your calculations  

in the table .

QUESTION 30

. . .CONTINUED FROM PREVIOUSPAGE

Components Weight Calculation Total

Adjustable base plate 8 kg 1 × 8 =

3 m standard 18 kg 1 × 18 =

Transom 10 kg 8 × 10 ÷ 2

(half the weight)

=

Ledger 9 kg 2 × 9 ÷ 2

(half the weight)

=

Brace (1.2 mbay) 9 kg 1 × 9 ÷2

(half the weight)

=

1.8 msteel plank 13 kg 10 × 13 ÷ 4

(quarter the weight)

=

Total dead load =

PC 1.7
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PLAN TASK

Explanation of live load

Live load =

the maximum rating an adjustable base/soleplate 
can carry including people, tools, materials...

Duty live load ÷3 × Number of working platform bays supported by the standard

Duty live load ÷3 × Number of working platform bays supported by the standard

Soleplate calculation for A

This task checks whether you understand how live load is transmitted tostandards. Then the task checks whether you can

calculate the amount/portion of live load there is on a standard in a particular configuration.

Each standard is designed to carry up to one third of the live load per bay.

The answer is found by:

Soleplate calculation for B

This task checks whether you understand how live load is transmitted to standards. Then the task checks whether you can

calculate the amount/portion of live load there is on a standard in a particular configuration.

Each standard is designed to carry up to one third of the live load per bay.

The answer is found by:

PC 1.7
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PLAN TASK

iv) You have calculated  
the dead load. You are  

now going to calculate  
the live load.

Calculate how many  
kilograms of live load  
could be carried by  
the same adjustable  

baseplates A and B.

The scaffold shown on  

the page titled ‘modular
scaffolding’will be used for 
heavy duty work which is  
675 kg per bay.

. . .CONTINUED FROM PREVIOUSPAGE

QUESTION 30

Heavy duty 675 kg per bay

Heavy duty 675 kg per bay

. . .CONTINUES ONNEXT PAGE

Ground bearing  

pressure = 2.2 t/m²

Ground bearing  

pressure = 2.2 t/m²

Soleboard width =

0.23 m(230 mm)

Soleboard width =

0.23 m(230 mm)

Soleplate calculation  
for A

Soleplate calculation  
for B

Calculation:

Live load =  
675 kg ÷ 3 =

× 1 =

Calculation:

Live load =  
675 kg ÷ 3 =

× 1 =

PC 1.7
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PLAN TASK

The soleplates you will use to construct the scaffold are 230 mm wide. 
This task will check your understanding of load distribution over surface 

area and your ability to convert common units of measurement to find out 
the length of the soleplate needed.

Thesite engineer has certified that the soil supporting the scaffold has a

bearing capacity of 2.2t per square metre.

How to get L.O.S.T. (Length Of Soleplate Timber)

Or howlong must the 230mm soleplate be under the adjustable baseplate? Easy! Just do this!

Example:

Baseplate A - heavy duty with bearing capacity 2.2 t/m

a) First get TLC

DL + LL = TLC

Dead Load + Live Load = Total Load Calculation

b) Then work out LOST

TLC + LPG ÷ WOT

Total Load Calculation + Load Pressure on Ground ÷ Width of Timber

= LOST

= Length of Soleplate Timber

DL + LL = TLC

TLC ÷ LPG ÷WOT = L.O.S.T.

Soleplate

Adjustable  
baseplate

Standard

. . .CONTINUED FROM PREVIOUSPAGE

. . .CONTINUES ONNEXT PAGE
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